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3 . 1 71 804.129] 664.293] 667.467 —-690.491 -23.024 ~18514.266096
8| 816.033 667.467| 671.14Q —664.293 6.847 5587.377951
9 818.163] 671.140[ 694.406 —667.467 26.939 22040.493057
10 811.993] 694.406] 690.491 —-671.140 19.351 15712.876543
04 797.182] 690.491| 664.293 —694.406 ~30.113 ~24005. 541566
43340.747551 -42519.807662
, 410.469
3 — 2| 10| 811.993| 694.406| 701.665 —688.689 12.976] 10536.421168
‘ 111 810.068| 701.665 695.948 -694.406 1.542 1249.124856
26| - 788.443| 695.948| 688.689 ~701.665 ~-12.976 ~10230.836368
23| 790.367| 688.689 694.406 —695.948 -1.542 ~1218.745914|
11785.546024] —-11449.582282
167.981
3 — 3| 11 810.068 701.665 705.793 -695.948)  9.844  7974.309392
12| 808.974| 705.792| 700.076 -701.665  —=1.589 ~1285.459686|
27| 787.350| 700.076| 695.948 ~705.792  -9.844 -7750.673400
26| 788.443| 695.948| 701.665 -700.076 1.589 1252.835927
| 9207.145319  -9036.133086
95.506
3 — 4| 12| 808.974| 705.792| 771.031 =700.076/ 70.955| 57400.750170
13| 791.673| 771.031| 772.453 =705.792 66.661 52773.713853
14; 789.226| 772.453| 767.258 -771.031 ~3.773 —2977.749698
15| 769.547| 767.258| 700.076| -772.453 ~72.377 ~55697.503219
27| 787.350| 700,076 705.792 ~767.258| —61.466 ~48395.255100

110174.464023
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—-107070.508017
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8 ___53 15| 769.547| 767.258| 761.700] -723.348 38.352 29513.666544
. 4| 748.498| 761.700| 717.779 =767.258] -49.479 -37034.932542
16| 760.113| 717.779| 723.348| =761.700, —38.352 ~29151.853776
30| 781.183| 723.348| 767.258| =717.779| 49.479| 38652.153657
68165.820201| ~66186.786318
989.516|
3 — B| 16| 760.113| 717.779| 704.597| ~723.348| -18.751 ~14252.878863
17| 763.599| 704.597| 710.168| =717.779 =7.611 ~5811.751989
29| 784.675| 710.168| 723.348| -704.597| 18.751| 14713.440925 |
30| 781.183| 723.348| 717.779 -710.168 7.611 5945.583813
20659.024738| -20064.630852
297.196
3 — T| 17| 763.599| 704.597| 697.221 -710.168 —=12.947 ~9886.316253
18| 765.550| 697.221| 702.792 ~704.597| —1.805 ~1381.817750
o8| 786.630| 702.792| 710.168| =697.221] 12.947| 10184.498610
29| 784.675| 710.168| 704.597| -702.792 1.805 1416.338375
11600.836985| —11268.134003
166.351
3 — 8| 18| 765.550| 697.221| 690.144| -702.792 -12.648 ~9682.676400
31| 767.421| 690.144| 695.716| -697.221| —=1.505| ~-1154.968605
32| 788.505| 695.716| 702.792| -690.144| 12.648 9973.011240
28| 786.630| 702.792| 697.221| ~695.716 1.505 1183.878150

~10837.645005
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3 — g 3 767.421) 690.144| 688.742 -695.714 . —6.974 ~5351.994054

19 767.792] 688.742] 694.315 —690.144 4,171 3202.460432

25 788.876] 694.315| 695.71¢ —688.742 6.974 5501.621224
32 788.505 695.716] 690.144 —-694.315  —~4.171 ) -3288.854355
8704.081656  —8640.848409

31.616
3—10| 19 767.792] 688.742 683.119 -694.315 ~—11.200 ~8599.270400

20| 769.280| 683.115| 688.689 -688.749  ~0.053 ~40,771840

23] 790.367| 688.689] 694.319 —-683.115  11.200 8852.110400

25 788.876| 694.315 688.744 —688.689 0.053 41.810428
8853.148988 ~-8599.270400

126,939
3 —11| 20| 769.280| 683.115/ 658.787 ~685.985 -27.198 —~20922.877440
21l 775.713] 658.787| 657.368 —~683.115 ~25.747 ~19972.282611

51 778.157| 657.368| 659.746 ~658.787 0.959 746.252563

61 787.076| 659.746! 685.985 -657.368 28.617 20523,752892

22| 780.137| 685.985| 683.115 -659.746 23.369  18231.021553
41501.028008| —40895.160057

302.933
3 —12| 6 787.076 659.746) 664.293 ~685.985 -21.692 -17073.252592

7| 804.129| 664.293| 650.491 —659.746] 30.745| 24722.946105

241 797.182| 690.491| 685.985 —-664.293 21.692 17292.471944
o2l 780.137| 685.985| 659.746] —-690.491] —30.745 ~23985,312065
42015.418049] ~41058.564657

478,426




